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Finish	filling	in	Pascal’s	Triangle:	
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1. The path LLRRLLR leads to which node in which row of Pascal’s Triangle? 
What is the value of that node?

2. Without expanding the power, determine the middle term of   (a + b)  8 . Explain how 
you found your answer.

Use the Binomial Theorem to expand each power of a binomial.

3. (x + 6)  3 

4. (x - 5)  4 

5. (x + 3)  6 

6. (2x - 1)  3 

7. (3x + 4)  5 

8. (2x - 3)  7 

Evaluate: Homework and Practice
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Review		
	 	 	 	 	 	 	 	 Given	the	transformations,	write	a	function.	
State	the	transformations	for	the	 	 	 	 	 c.		absolute	value:	vertical	stretch	by	2,		
following	functions.				 	 	 	 																																reflection	over	the	x-axis,	shifted	up	4	
	 	 	 	 	 	 	 	 	
a.		 	 	 b.		 	 	 						
	 	 	 	 	 	 	 	 	 d.	quadratic:	vertical	compression	by	1/3,		

				shifted	down	2	
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9.   (x + 2y)  5 

10.   (3x - y)  4 

11.   (5x + y)  4 

12.   (x - 6y)  5 

13.   (5x - 4y)  3 

14.   (4x + 3y)  6 

Use the Binomial Theorem to find the specified term of the given 
power of a binomial. (Remember that r starts at 0 in the Binomial 
Theorem, so finding, say, the second term means that r =  1.)

15. Find the fourth term in the expanded form of   (x - 1)  6 .

16. Find the second term in the expanded form of   (2x + 1)  4 .

17. Find the third term in the expanded form of   (3x - 2y)  5 .

18. Find the fifth term in the expanded form of   (6x + 8y)  7 .

Module 6 348 Lesson 3

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=NL-A;CA-A

©
 H

oughton M
ifflin H

arcourt Publishing Com
pany

9.   (x + 2y)  5 

10.   (3x - y)  4 

11.   (5x + y)  4 

12.   (x - 6y)  5 

13.   (5x - 4y)  3 

14.   (4x + 3y)  6 

Use the Binomial Theorem to find the specified term of the given 
power of a binomial. (Remember that r starts at 0 in the Binomial 
Theorem, so finding, say, the second term means that r =  1.)

15. Find the fourth term in the expanded form of   (x - 1)  6 .

16. Find the second term in the expanded form of   (2x + 1)  4 .

17. Find the third term in the expanded form of   (3x - 2y)  5 .

18. Find the fifth term in the expanded form of   (6x + 8y)  7 .

Module 6 348 Lesson 3

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=NL-A;CA-A

©
 H

oughton M
ifflin H

arcourt Publishing Com
pany

9.   (x + 2y)  5 

10.   (3x - y)  4 

11.   (5x + y)  4 

12.   (x - 6y)  5 

13.   (5x - 4y)  3 

14.   (4x + 3y)  6 

Use the Binomial Theorem to find the specified term of the given 
power of a binomial. (Remember that r starts at 0 in the Binomial 
Theorem, so finding, say, the second term means that r =  1.)

15. Find the fourth term in the expanded form of   (x - 1)  6 .

16. Find the second term in the expanded form of   (2x + 1)  4 .

17. Find the third term in the expanded form of   (3x - 2y)  5 .

18. Find the fifth term in the expanded form of   (6x + 8y)  7 .

Module 6 348 Lesson 3

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=NL-A;CA-A

©
 H

oughton M
ifflin H

arcourt Publishing Com
pany

9.   (x + 2y)  5 

10.   (3x - y)  4 

11.   (5x + y)  4 

12.   (x - 6y)  5 

13.   (5x - 4y)  3 

14.   (4x + 3y)  6 

Use the Binomial Theorem to find the specified term of the given 
power of a binomial. (Remember that r starts at 0 in the Binomial 
Theorem, so finding, say, the second term means that r =  1.)

15. Find the fourth term in the expanded form of   (x - 1)  6 .

16. Find the second term in the expanded form of   (2x + 1)  4 .

17. Find the third term in the expanded form of   (3x - 2y)  5 .

18. Find the fifth term in the expanded form of   (6x + 8y)  7 .

Module 6 348 Lesson 3

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=NL-A;CA-A

©
 H

oughton M
ifflin H

arcourt Publishing Com
pany

9.   (x + 2y)  5 

10.   (3x - y)  4 

11.   (5x + y)  4 

12.   (x - 6y)  5 

13.   (5x - 4y)  3 

14.   (4x + 3y)  6 

Use the Binomial Theorem to find the specified term of the given 
power of a binomial. (Remember that r starts at 0 in the Binomial 
Theorem, so finding, say, the second term means that r =  1.)

15. Find the fourth term in the expanded form of   (x - 1)  6 .

16. Find the second term in the expanded form of   (2x + 1)  4 .

17. Find the third term in the expanded form of   (3x - 2y)  5 .

18. Find the fifth term in the expanded form of   (6x + 8y)  7 .

Module 6 348 Lesson 3

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=NL-A;CA-A

©
 H

oughton M
ifflin H

arcourt Publishing Com
pany

9.   (x + 2y)  5 

10.   (3x - y)  4 

11.   (5x + y)  4 

12.   (x - 6y)  5 

13.   (5x - 4y)  3 

14.   (4x + 3y)  6 

Use the Binomial Theorem to find the specified term of the given 
power of a binomial. (Remember that r starts at 0 in the Binomial 
Theorem, so finding, say, the second term means that r =  1.)

15. Find the fourth term in the expanded form of   (x - 1)  6 .

16. Find the second term in the expanded form of   (2x + 1)  4 .

17. Find the third term in the expanded form of   (3x - 2y)  5 .

18. Find the fifth term in the expanded form of   (6x + 8y)  7 .

Module 6 348 Lesson 3

DO NOT EDIT--Changes must be made through “File info” 
CorrectionKey=NL-A;CA-A

©
 H

oughton M
ifflin H

arcourt Publishing Com
pany

15.  ( a  2  +   b  2 )  ( x  2  +   y  2 )  =    (ax -  by)   2  +    (bx +  ay)   2 

Evaluate the following polynomials using one or more of these identities.

  (x +  y)  2  =   x  2  +  2xy +   y  2 ,  (x +  y)  (x -  y)  =   x  2  -   y  2 , or   (x -  y)  2  =   x  2  -  2xy +   y  2 .

16. 4 3  2 17. 3 2  2 

18. 8 9  2 19. 4 7  2 

20. 54 ⋅ 38 21. 58 ⋅ 68

22. Explain the Error Two students used binomial expansion to expand   (a +  b)  2 . 
Which answer is incorrect? Identify the error.

 A B

   (a +  b)   2    (a +  b)   2 
 1 a  2  b  0  +  2 a  2  b  1  +  1 a  0  b  2  1 a  2  b  2  +  2 a  1  b  1  +  1 a  0  b  0 

  a  2  +  2ab +   b  2   a  2  b  2  +  2ab +  1
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f (x) = −3 x +1( )3 g(x) = x − 4 + 3


